10 Example questions for INDC students in the "Approaches and Schools of Thought course - Doron Navot
1. Which approach emphasized the first dimension of power?
a. Marxist 
b. Pluralistic 
c. Elitist 
d. The public choice

2. In the first dimension of power: 
a. The emphasis is on that which is known
b. The focus is on the relationship between A and B and the imposition of one's will on the other
c. There is no preoccupation with conflicts that are not expressed in reality
d. All the answers are correct

3. The second dimension of power: 
a. Focuses on controlling the agenda, blocking free discussion and hidden things. 
b. Deals exclusively with capitalists. 
c. The focus is violent control
d. All the answers are correct

4. The third dimension of power:
a. Related to the distinction between preferences and choice in.
b. Is related to the distinction between real interests and the preferences of citizens and citizens.
c. Related to the distinction between power and control 
d. No correct answer

     5. Tired of the Marxist paradigm, social relations are largely based on: 
a. Mechanisms for regulating conflicts
b. a common culture 
c. c Material and Economics
d. d organization

6. What paradigm holds that power in society is concentrated? 
a. The elitist
b. The Functionalist - Pluralistic 
c. Marxist 
d. Answers A and C are correct

7. What approach supports the reduction of government powers? 
a. The public choice at. 
b. The rational choice 
c. Game Theory 
d. Pluralism

8. What philosopher believed that anyone who wanted to rule was not suited to rule? 
a. Plato 
b. Aristotle
c. Machiavelli
d. Hobbes

9. What philosopher believed that human beings were not equal to each other! 
a. Plato
b. Aristotle 
c. Machiavelli 
d. All of the above
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10. The phrase "the being determines the consciousness fits in best with:
a. Pluralism 
b. Elitism 
c. Marxism 
d. No correct answer
